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= («E —%Mﬁ +%} s+ /) then fing aycx. 10°]
- Write the rules of differentiation. _— o . - [08]

At which point f(x) = x_3 - x* = x +2 is maximum ? and at which point minimum? [05]

. o -

) f;f y= (z:z) then find dyldx | [05]
' If cost function Clx) =2x" +-1~%§-+ 25 where x is commodity, lfin-d the value ofix for [05]

| ‘which cost iS‘fni_n!ﬁa:m, aisc find minimum cost. |

1 y=(® +4x)x (42 ~3) then obtain dyldx. | [05)
*Findthe value of n | N

()

Ei (n+2) 5 12

Hc')w many words can be formed using all the letters of the word "SEJAL"? out of [05] -

) them how many words (1) Start with ‘L’ (2) Start and end with vowel.

] Fmd the number. for. commzttees of 5 members from 7 hoys and 4 glrls can be [05]
: formed such that committee contalns at least one girl.

OR
Findnif - ‘ | [05] -

(1) B, =840
2,8 =6,C;

"A question paper containing 10 questions is divided into two section, having 5 [05]

questions in each section. If student has to write 6 questions in such a way that at

Jeast two questions must to take from each sec_:tion; then how many ways he can
~ select the questions. '
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Evaluate : -

(1) 9lP2+(.Pa' +34,C,
i (2) ‘gocd-':'mczl
T3 1o Cm -

Find the equation of a line passing through the points ( 1, 2)and (5
slope and both the intercepts.

Obain the equation of a line passing through the point A(x,, y1) and having slope m.

Find the equation of a line passing tﬁrough the intersection of the fines x+2y-1=0 and
. 2x+3y-4=0 and making equal intercepts on both the axes.

Flnd t.heléquaﬁon of a line passing through the points (xy, y1) and (X, y2).

If the distance between to points A(-3, -2) and B(a, 1) is 3410 then find the value of

a.

Write the meaning and uses of linear programming and solve the following Imear
R programmmg probiem by graphical method.

- MaxZ=6x+7y

' 's.’c.

2x+4y548

C4x+ 25@5’; 60

xyz0

OR

© Obtain the equatlon of a line passing through the intersection of the lines x-4y+18=0
., and x+y-12=0 and having slope 1/5.

‘ijolve the following transportation probiem by VAM” (vogie's Apprommatmn method)
. for the fol[owmg data, - :

, ~3). Also find

D1 D, Dy Ds { Demand
o |5 8 3 6 |30
0 |4 s 7 4 |50
o |8 2 4 5 |20
Cswpy[20 40 30 10
OR

105]

[05]
[05]

[05]
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[05]
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Q4 (A) - Solve the following transportation problem by (1) NWCM (2) LCM

iDr Do D;  |Demand
oo 2 4 s
0, 3 3 1 8
e 5 4 7 |7
O, |1 6 2 |14
| ‘.Supply_‘ [4 6 2i

‘ Q-l 4 (A) " Solve the foliowing Linear Programming Problem by graphical method,
Min Z=10x+ 5y .

s.t.

3x + By < 150
.. Bx+4y>100
. 0sx%<30, 0sy<15
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'u%ﬂ (;1) cﬁ,vﬁ(ﬁ~\/—l—~}(‘~/.;+-\—/l—;—](x+%)aeacﬂdy/dxa?:cnm ‘ | [05]

X
usi-q (o) @SC—I(ﬁcﬂ (G1aad] ). | = [05]

usi-a (s) faéaf(x) X3 — X2 =X +2 sw@gwéuérmuasulfaig,aiécewdu [05]
&Rl 7

ALY

| .-Ll%l;‘t‘f(%ﬁ) F y= [ixisj @‘la A) dy/dx Aad), | . [08] |

M- (o) drq virlg] @AY C'(x)=2x2+%§—+25 & 9l x A degofl 2ival &. Al [05]

uiie} (A1 o>joitiai &1 R X ofl Bt M eEN A8l oottt VI URI AIED.
-'-H.&l-q (s) ‘ca pe= (50 + 4x) x (4x2 —3) 814 ) dy/dx Aad], ' [05] .
| 'M_g@) R LB B =512 82 dl n ofl Bad 2Ned, | - [05]

MH-R (o) “SEJAL"RIGE GIEl| % 42 ell GURllol s} §a Bedl olcit 916€) sloticll  [05]
ASIAT 21178l Becl AGEMHT (1) 32iia L &) ad) 637 () =131d
e 2al 28] 417

' | Qa.—sa (S) ECE BT P R ¥ Slseiiel U calEiol sER cietigalofl dl2i d) Becll [051
- " 5@ D otolich) 2SI 3 Fati 2N e0ai 2N ed) 1 DA S .

=48]

MB-R () (1) P =840 (2),2 =6,C, &2 dl 6l iz n ofl Baiaq Ao, [05]

us-2 (of) 20 H2YaNgf calg Rs U A Qoo aBARY B, 210l €35 Ratoiai [08]

L YHA B, o Auiefla § usllon wdist Al A3 21udiall 8l B Rl €35
QoA el 2 e911] 2691 A Mol wUior I % YD da 8l d) Renell
ol uieal Beclt 91a sdl ain?
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usie= (8)  ofatioll Bana Hardh, | o8]
| o (q) o By 6y + 31, C, ‘
(Q).zoca:":‘mcz

( 3 ) 1600 C998

HH-3 () [Ag (-1, 2) a1 (5, -3) Hieh vz ad] 3utig] Aalls2el Aad) de dall [05]
210 2ial oid} 242f] Uzl 2id: wsﬁ A, o

“us-3 (o) Roll 310 1/5 612 2idd A Iu10] x-dy+18=0 A x+y-12=0 of| [05]
s BeatlGigaiefl uiiz adl &1 di d iig] Hefls And,

u»&ﬁ—s (8) [&ig(x,, y'1)aiieﬂ w2aR ad 246 m ainaiof Juiig] 2fiswr A, [05]
I o

ugi-3 () QEHRA‘: X+2y-1=0 iql 2x+3y-4=0 oll BeatfBigaief uaii2 eid) QH'SL [05]
S . aial 212 U2 2431101 Vi US Sloldcl] Jutig] 2afls2i And.

UH-3 (o{)‘ [Giga (x,, y,) 491 (x,, y,) el uair ad] 23uie] adls22 Ao, . [08]

-3 (8) N A gl A(-3, -2) 2idl B(a, 1) 42dqf 2id? 3,/10 el dlaofl Bya [05)
o - =NE.

Cougitr () PRu iIYotoll el watend) Jofl GUANBict @ull deil ofl Aot 3u [08]
S RNl H3iel 21Auief Sld GBA.
HETH Z=6X + 7y .
||  2x + 4y < 48,
4x + 2y < 60,
x,yz0

usi-w (o) ofl Dol dlgoicacigiRol WA VAM el 63, (dDoicaidll vieind Ad) [07] -

Dy D, D, D, 8&13\_
o, J|s 8 3 6 |30
o, |4 5 7 4 |50
O }8 2 4 5 |20

;iﬂcla 20 - 40 30 10
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M- (34) ofl et et caiciiat 1 (1) NWCM (2) LOM e 63, [08]

D, D 0, | oL
0, 2 7 4 |5
o, |3 3 1 |8
[ 4 7 |7
o, |1 6 2 |14
BELQ@L 7 6 21

_ “é"."x (61)  oflDall 2420l AR ¥ototl UHA 211Quiofl ecel) GBaN. [071

ooidd Z = 10x+5y

%[ 3x + Sy < 150
5x + 4y > 100
0<x<30, 0<y=<15
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